RIFREXBFER

=
#®
%

m
20 30 40 50

1/1300
10

0

[
]
S
i
&

n
R

(ER 3 0HEE)

41 B=E
(860-51-52ni)

TSI ELZRRI
BRI

4-2 =
(S60-51-43mi)
5 kAR
(S61-51-30m)

|
R e
QRS

CERIIKLLS
P e%etetetote¥e %ot te"

&

1371nd

—

5
TR,
A TRRRRRRIKRRRRIRRRKRRR

o 20%%
XXX

&

2

%
STRGKX
TS
e

%%
R

%%¢

SRRRRRLRS

TR RRRRIIRRRK

CRXRRXKHKKS
o20%0%6%%%e%%a%a%
T

R

8%%%!

DRRERR
dofeatetetotet

RRRXXIRLCRLRLRLRS

ZRRRLRRRIRIILRRLK

L RRRRRR
QRIS

2<
o
2

%a9

T

B

RXRIRXIILICRILERL
doletuleteteletetetetetetetetst

E
£y g
| ® Y o)
- J | 9725
* n L 2%
1} 10,928
& R
By | & %)
1%
L$e)
2 %
Ml |8 2 ¥
BT ®
% “ | E )
| ] -8 i
€ #u = lm i
ol o
] < E
e » Ex 3 &
RS o —E AN _Lla 5
8 P il o~y
1o%S -— ™ £ 9
5 58 . 21 B =¥
& R R al— -
0““ www — ] | b= = w
KK XX N (2] .
R 55 ﬂ £ a =
R s P &
& e =
o5 %%
(5 5 ¥
R s B
5 M o
<5 8 o
o9
5 *
o% o% —~
K& 000
R 9L 25 = E
KK KX %
8] BS & BE < g
R K 0 ‘ 1 N e ]
nnn i ] ~ 3 e &
% .
X T b= N
K g 0L =
o™
L
X Mg = .
N
| I -/ /
| £

KEERT)

€]4]

*xEYchLEw

EREY
iRy

)

(&)
(i)
(—H)

(=5)

EA SRR
ERI“EDHD

BUUADIEY

® mEERETOXYEBT

EixERs

% BAFE
A HRKkE
2 2K

* Fa—-EsL
7 JonRvEk

&
B BT

¥

i ERLSNMRRREY

RoTE
Bx BRRvF

"

RyoRy b




